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height[0] height[1] height[2] height[3]
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* 4 Bars (A, B, G, H) show the same histogram

MPV value is higher than previous one
- Another peak at low energy; Geometric problem?
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cosine {chiNDF>100} Counter[0]
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TYPE 4 # 2=minitcb, 4=gbartch
PTRIG 1000 #ms

MTHRF 4
PSCF 1
w200
TRGOMN 1 # normal=1, ptrg=2, ext=4
END
FADCT 13 4
ENABLED 1
cID 1234
(:: f:' . PID 13 14 15 16
onfiguration SO
RL 8 # 2°n, n=1 (2°n*128)
DSR 1
DACOFF 3637 3650 3630 3607
W 200
TLT 1x2+3x4
DLY 300
THR 100
™ 1
PCI 1000
PCT 1
ZERO e

END



